Question #1: Fill the spaces: (30 Marks)

1) Before radiometric dating, geologists developed a time scale using principle gf ,3/
o

...[q.dio....QC.:LJM'.{}.’.'.......7.‘...

72) The proc,e%éies that lead to the destruction of the Earths’ surface are: €@V°/‘\
We’tl*h!ﬁw% PR N

ansey

3) 54/&91/‘(.k Is the color of the mineral in its powder form.

4) Some minerals can be identified by taste, example the mineral é[%t«

5) Flourite mineral has a hardness L{\J AR ST VERE RN

J¢6) Water is important for plants, because ...!'.l....ii......f!.".(sa.a}j.qn...plQ.M:J..................

& .. ufcs..ok. Plasks  asdenbon .. dhak. . inc s is. ths.. Tlor.....
hot®

12) A ..Lims.xko.nc.%.... is made up of one or more mineral/s.

13) All materials when crystallize occupy less volume except ................ 7( .............
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|I-defined surface, we call
15) When materials remain coherent and move along, we

this type of mass wasting a . J J tnﬁ_ O{> -5 id

' " crust. /
16) @w(ﬂ?-/& is the 2" most occurring element in the Earths’ ¢ :

P4

[ X Mﬁ @arney
17) The rock layer that does not permit water to pass through is called ..q¢g.4) P

: : g . ure.
18) The igneous texture that has no crystals is called ....... @l.‘!....s... e Mot
’519) Sorting of sediments reflects change in the streams’ ................. ][ .................
’s 20) River sediments are called .. A. laviam,.... .. sediments.

- C Srinshkie / Mop
21) Stalagmites are often made up of the mineral .. . ,L.../' L

22) Dissolving and taking calcite away by groundwater leaving underground caves is

a phenomenon called .. legc.f\mad / 2AIJ,4 .. phenomenon.
23

4

\‘ .
Cross bedding is a phenomenon usually happens in ................. /z ...... sediments.

N

)

i (mmhne., hqs a highly porous but impermeable rock type.

3) When river receives water from groundwater, it is called . Wﬂ " . river.-
) S

26) Soil rich in minerals bearing lot of Fe + Al elements‘is called . .pe:iq/J.ﬁf
27) Dark igneous rocks have.. |C’E{}€, N..

N

denmfy than light-colored i lgneous rocks.
M

Ax, Siee thaf
5 28) Streams tompetence is expressed by its ... 4 ERRRTITAL., SC:%-: Wh\le vts capacity
fans p '

is expressed by its ..... ";Qkuj'(}"/ﬂq)( lond....tuay sy T
g P

e e
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. Question # 2: Classify the following rock

N

o s and minerals (30 Marks):
ock or Mineral Igneous | Metamorphic Sedimentary
Mineral Structure | (Texture) (Texture) | Detritus | Organic | Inorganic
1-Rhyolite A gbm*-g 3
2-Arkose
o
3- Anthracite //
ke
4-Hornblend | doyble -
B
5-Pumice 9 leyss \/
P
L
% 6-Breccia u./
& 7- Slate —(:—M;—%_ck
riayke nia Floke
8-Gabbro W "
A
P Neysic ,< /F’/ [\ L/\Q/ /
9-Diorite hote L 3
-l [l =/ o
10-Muscovite VL/ J i) P # /..
She ' \L_//
11-Olivine simgle )4
‘Hf# edfon /_
% 12-Gneiss Afawqloy an
= chnogged i

13-Conglomerate

14-Quartzite

QU-‘#H'L Saad
fonm nodgla bebo hoh 9n ¢ Mek,

15-Silt Stone

o
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Question #3: Match between those in column (1) with those in column (2) (15 Marks)

Column (1) Column (2)
1 Pyrita () Biotite
2—Mud-Flow— 4_("\ ) Subsoil v
3—Sinkhotes— () Lithosphere x
4. Placer Depesits— (&) One type of bed load movement
(g| S-Coquine—onamc ( 11) Igneous rock has large crystals
6.—Saltation— (7) Rock made up of silt & clay
Z. Shale () James Hutton y
— 8 Alluvial Fan— ( 7) Rapid type of mass wasting that
involves a flowage of debris rich in water.
rj S. B-Horizon ( | ) False Gold
10 Hardest-Mineral— (14) The rise of groundwater level in awell
_11 Pegmatite - (&) Made up of Si02
12.Flint {13 ) Cone-shaped accumulation of
different angular rock pieces.
13- Talus ( 2 ) Reflects Karst topography
14 ArtesianHead () SpotHoles ,
A5 Humus— () Cone of Depression

() Soilrichin Al & some Fe -
( ) lceSheet x .

(]9 Diamond

(15) Organic material

(5 ) Rock made up of shells cemented
together

(Y) Economic accumulation of precious
heavy minerals due to their gravity

( §) Accumulation of River debris due to
sudden drop in its velocity
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Question # 4: (25 Marks)
A) Name 5 methods applied to treat the slope to prevent mass wasting? [5Marks]

') ‘:,QH'MS Fhe Slopc

?.) remow] the load

3
) mch.o,;. Veﬁe’\q‘m Caver

674) i e ﬂe ﬁ’“-\dql on

5) Mma ke G bnon;

B) Name 4 problems related to groundwater? [4 Marks].
l) non- fenenabhle sourte Cob,)pvb/,g)

g a) Land setuve qum&qﬂ&ﬁ due lo wv }hdrqwaf Ground weiker
3) Sg H ~abur condaming fion

’!
P4

—

H) A/O'L /VC"U‘"’k +he (e.Cl«afje t-u)e!i}(ﬂ e

C) Discuss the following statement: “As the particle size increases, then the rate of
chemical weathering decreases”? [3 Marks]. ’

(21 1) ) ) ool Lol & S50 Bl
sphencal ek 2oy Uls &1 g%y QLIL
Lds sU) Jord dor lo Gbv) o S5 Dyde 92

Us 0 &) g UL, [eldspars e Clay ) 22w 9

b/‘o_) prvy] (‘z‘?—b y (%;;M
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D) Explain how water content affects the mass wasting? [3 Marks].
1) redice  shear sMeagh

'() add q&di-owf “Righ
3) Feazig and Fnrgea|

"IJ lqbf-‘cal-‘va o\loub plaue oF i, Slop ¢

E) Name 3 methods stream carries its loads? [3 Marks].
D ¥ n Se 'u)(c‘w\ ( d“fo'vté 10QJ)

gz) Ton gqsﬁﬂ,-oq (?ng.‘ndecl /00(1/)

3) Alony tne Dotpon, (Bed ioqc’)

e stewe Poce

ff F) Explain how unloading causes rock disintegration? [3 Marks].
erosien Ul 5”»“ é"”" T 2o )yee) glo Joad ) Yl a=

onien Jike hmg @ Wd) o sl of01 4 s 130 5

e

: ¢
G) Name 4 external factors affecting the mass wasting? [4 Marks].

,) vy l)l‘o:ﬁ-ovx

WPV Z') {t’\“‘k’, ﬂ.a:’-q‘ni\ Co‘fen’

. b@d&‘ al- -Hu J-o’ 0‘(1 the S{OPQ




